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Question: 1

While installing a three frame Synergy solution, only two of the frames are identified during the
discovery process.
What should you do to get resolution?

A. Remove and re-insert the standby Composer

B. Issue a refresh command to the enclosure

C. Open the front panel of the Composer, and read the error message
D. Validate Frame Link Module topology

Answer: D

Question: 2

What is required to enable Jitter Smoothing technology? (Choose two.)

A. HPE Apollo

B. ProLiant Gen 10
C. HPE Synergy

D. HPE Cloudline
E. iLO5 Advanced

Answer: B,E

Question: 3

A customer is using HPE Smart Update Manager (SUM) for firmware update. They plan to add 100
Genl0 Proliant servers, and they are concerned about whether HPE SUM will be able to support this
size of installation.

What other option could the customer use for firmware updates that has increased scalability?

A. iLO Advanced Premium Security Edition
B. Insight Control server provisioning

C. Insight Cluster Management Utility

D. iLO Amplifier Pack

Answer: D

Question: 4
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A customer purchased HPE ProlLiant Gen10 servers. The customer is transitioning from a physical to a
virtual environment.

Which feature should be enabled to ensure that they get the optimal performance from their new
servers?

A. UEFI optimized boot

B. Integration with an HPE OneView for VMware vCenter
C. Performance optimization using the workload profiles
D. OneView OS Build Plan

Answer: C




